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“"A" LevelpgaHE#Z

School Mean Median 90 85-90 80-90
1 Raffles Institution & {# 1+ 85 32%
Hwa Chong Institution £ 85.2 30%
) " Nanyans Jumior Colleze FVERTEE | 85 60%
Victoria Junior College 4 % #1041 85 50%
Duman High School 4 B EUR H 2 81.9 83 14% 50%
Eunoia Junior College 5 #E4/] [ 82.4 84
3 National Junior College [E ZZ #] % 83.75 40%
Temasek Junior Collegei%® 545 4]t 81+ 40%
River Valley High School 7 fk 712 8.70% 41%
4 Anglo-Chinese Junior College 78.5
5 Anderson-Serangoon Junior College 754 35.90%
6 Tamipies-Meridian Junior College 73.9 4 33%
7 Catholic Junior College 5.70% 17.30%
g Jurong-Pioneer Juior College 1
Millenia Institute 1 20
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2018)2EE 4
Cambridge &4 Oxford 43§
Offer | Acceptance | Offer | Acceptance | Tatal Offer | 2018/& /& A %K m b
REU [ BBIAKEL | REX | #IARE
NUSHE KMs | 18 12 6 5 24 About 170 14.12%
RIBE}EL 35 22 36 30 71 1147 6.19%
HCI4E 33 25 23 18 56 About 1150 4.87%
ACSIzE®EHE [ 13 13 9 9 22 452 4.87%
DHS{& AR Fh 24 7 6 4 0 11 373 2.95%
NICE Z #1Fr 5 <3 4 8 9 About 700 1.29%
VICH#E % % ¥ 4 3 5 4 9 753 1.20%
ACICEEL¥BE | 4 3 0 0 4 About 600
NYJCE¥#IBt [ <3 <3 0 0 <3 About 600
RVHS{kH& | <3 <3 0 0 <3 379
EICiE #E# B No applicant No applicant 529
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Singapore IMO

Name School Medal
2022 Cheng Wenhao Hwa Chong Institution Silver
2022 | Drew Michael Terren Ramirez NUS High School Silver
2022 Gabriel Goh Hao Xiang Hwa Chong Institution Silver
2022 Wu Xinyue Hwa Chong Institution Silver
2022 Shevonne Chia NUS High School Bronze
2022 Peh Yan Xi Raffles Institution Honourable
2021 Goh Si Jing Sophie Raffles Institution Gold
2021 Low Choo Ray Raffles Institution Silver
2021 Ong Ee Shua Raffles Institution Silver
2021 Shevonne Chia NUS High School Silver
2021 Hu Xinghui Raffles Institution Bronze
2021 Lai Pengchong Raffles Institution Bronze
2020 Aloysius Ng Yangy Raffles Institution Silver
2020 Tan Xu Chen Raffles Institution Silver
2020 Hu Xinghui Raffles Institution Silver
2020 Tan Wee Kean Raffles Institution Silver
2020 David Toh Hui Kai Raffles Institution Bronze
2020 Low Choo Ray Raffles Institution Bronze
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Platinum: Top 1.5% £3504%
Gold: Top 4% £970%&
Silver: Top 10% £31804X
Bronze: Top 20% £33004X

Top 4% (EZH5E11201) 1SiEEhS
ZMMinvitation RoundEfRELER
APMOPS

RIPMWC

High Distinction: top 2% £9404%
Distinction: Top 15% £9260#%
Merit: Top30% £3300%%
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SMOPSEE—4CITlRURIR 4T
2008 2009 2010 2011 2012 2013 2014 2015 2016 2017 2% 9  LLE

Calculation 6 7 5 3 6 3 3 3 3 2 41 41 13.67%
Counting 1 1 3 2 3 4 4 4 3 2 27 2.7 9.00%
Word problem 1 4 2 3 4 4 3 6 4 5 36 3.6 12.00%
Geometry 12 10 11 15 9 9 8 7 9 5 95 9.5 31.67%

Number theory 3 1 5 3 3 5 5 3 5 4 37 3.7 12.33%

Distance 1 1

4 2 2 2 1 2 19 19 6.33%
problem

Comprehensive 5 5 3 3 1 3 5 5 5 10 45 4.5 15.00%



BT A

SMOPS R1 Proportion of each module

® Comprehensive
m Calculation
® Counting
Word problem
B Geometry
® Number theory
m Distance problem
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RIPMWCEE—42isl @R IR 3T
2009 2010 2011 2012 2013 2014 2015 2016 2017 2018 2019 2021 Z#!

Calculation
Counting

Word
problem

Geometry

Number
theory

Distance
problem

Comprehen
sive

4
3

3

5
1

2

5
2

5

6
6

2

3
3

0

5
3

1

2
3

2

4
1

2

4
3

2

6
3

3

3
3

1

50
35

26

48

51

17

13

i3 Lefl
4.167 20.83%
2.917 14.58%

2.167 10.83%
4 20.00%

425 21.25%

1.417 7.08%

1.083 5.42%
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RIPMWC R1 Proportion of each module

7%

5%

m Comprehensive
® Calculation
® Counting
' Word problem
B Geometry
B Number theory
® Distance problem
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RIPMWC-2021

ll.ThevaluenfL+ : + : I

43 43+86 43+86+129

4 M

1032

g 49

1032

c L

1032

p. 27

2064
E. None of the above

SMOPS-2016

1

43+86+129+---+ 2021

2

3

RIPMWC-2017

5 7 9 11 13 15
9. Calculate: — + + + + +

36 144 400 900 1764 3136

11
64
13
64
15
64

p. L

4
E. None of the above

A.

B.

C.

14. Find the value of: 84 x(

_I_ —_
I1x3 3x5 3x7 7Tx9

4 9 10
+--t —
17x19 19x21
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RIPMWC-2021

RIPMWC-2018

SMOPS-2017

SEER

2. If the positive odd integers are arranged in columns of sixteen as shown below, then 2021 will

appear in the m" row and n™ column. Find m x n .
[For example: 81 is in the 3" row and 9" column]
1 3 5 7 9 11 13 15 17 19 21
33 35 37 39 41 43 45 47 49 51
65 67 69 71 73 75 77 79 8l

23 25 27 29 31
53 55 57 59 61 63
83 85 87 89 91 93 95

1. If the positive even integers are arranged in rows of eleven as shown below, then "2018" will

appear in the m™ row and n® column. Find m + n.

(Eg, "58" appears in the 3" row and 7" column, so that m + n = 10)
2 4 6 8 10 12 14 16 18 20 22
24 26 28 30 32 34 36 38 40 42 44
46 48 50 52 54 56 58 60 62 64 66

20 22 24 26 28 30 32

m+n.
2
4 6 8
10 12 14 16 18

30. In the following number formation, if 7102 is the n** number in the m™ row, find the value of
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SMOPS-2022

10. A semi-circle with diameter AG 1s shown 1n the diagram below. The entire arc of the semi-

circle 1s divided into 6 equal parts by points B, C, D, E and F. DF and CG are straight lines.

Given that the area of the semi-circle is 84cm?, find the area of the shaded region in cm?.

D

C E
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RIPMWC-2017

12. The diagram below is made from quarter circles on a square grid with divisions 1 cm apart.
22

pali

5

What is the total area of the shaded region in cm?? [Take 7 = =]

A.

B.

C. 6—

-
6
e
7

E. None of the above

D.

E5YI7
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SMOPS-2017

14. In the diagram below, the circumference of the largest circle is 28. There are three smaller circles
with centres lying on the diameter of the largest circle. The circles touch one another as shown in

the diagram below. Find the sum of the circumference of the three smaller circles. [:r = E]

B




B2 (L) JUAREL

RIPMWC-2019

17. The triangle above is divided into nine stripes of equal width and each strip is parallel to the
base of the triangle. If the total area of the unshaded strips is 88 cm?, find the total area of the shaded

strips in cm?.

RIPMWC-2017

14. ABCD 1s a square with side length of 2 units, and P is the midpoint of CD.
What is the total area of the shaded region, which is made up of a square and 2 triangles, in units®?

A 92—
9
|
B.. 9=
8
A. 100 c: 52
B. 105 7
C. 108 D. yx
D. 110 6
E. None of the above E. None of the above
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SMOPS-2019

18. In a rectangle ABCD, the areas of two triangles are given. If 4F = lAB , find the area of
3

quadrilateral ADOE.
A E B

16

20




FEPRATAE

FLEA (200)

SMOPS-2022

14. Find the smallest multiple of 35 that ends with *35” and has a sum of digits equal to 35. (If your
answer 1s more than 5 digits, shade the first 5 digits. For example, if the answer 1s 1234535, please

shade 12345.)

RIPMWC-2021

16. For a whole numberm,m!=1x2x3x---xm.
What 1s the remainder when 1! 214 2% 31+ 3x 41+ ...+ 2020% 2021! 1s divided by 18?

A.2
B. 4
C 12
D. 14
E. None of the above

RIPMWC-2019

18. A4 1s the largest integer such that 144 has exactly 2019 digits. Counting from right to left, what
is the 100" digit of 4?
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EUts (H00) mREA

SMOPS-2019

1. A number N 1s divisible by each of the integers 2, 3, 4, 5, 6, 8 and 9. N gives a remainder of 5
when divided by 7. Find the smallest value of V.

RIPMWC-2017

19. Consider the three numbers 2017, 2758 and 3670, When they arc divided by a number 4 the
remainder 1s the same for each of the three numbers. What 1s the sum of the values of 4 ?

RIPMWC-2017

10. Let x =2017""" + 2017 . How many of the following statements are true?
(I) The remainder when you divide X by 5 1s 2.

(IT) The remainder when you divide X' by 6 1s 2.

(III) The remainder when you divide X' by 7 is 2.

(IV)The remainder when you divide X by 8 1s 2.
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RIPMWC-2019

8. The diagram shows 5 circles, each with radius 7 cm. By taking 7 = = , find the total area of the
7

shaded parts.
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RIPMWC

RIPMWC-2017

. . a . .
16. Fractions in the form — are created such that « and » are positive integers and
b

a+b=425. How many such fractions are there which are less than 1 and which cannot be
simplified further (that is to say,« and » have no common factors other than 1)?

A. 150
B. 170
C. 185
D. 190
E. None of the above

425 425 425
16) Number of pairs of {a, b) = 425 — _
) Number of pairs of (a, b) ) . T + 5 17

]
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SMOPS-2022 (#RkixEAR)

9. The sum of 49 distinct positive integers 1s 2022. If there are n even numbers among the 49 integers,
what 1s the least possible value of n?

SMOPS-2019 (&AF!)

20. Among the integers: 1, 2, 3, ... , 49, 50, what 1s the maximum number of integers that can be
selected such that the sum of any two selected numbers is not divisible by 7?

SMOPS-2017 (§]A4Fl)

29. What 1s the least number of integers to be randomly selected from
{1,2,3,4,5,6,7,8,9,10}

to ensure that among the selected integers, there is one number divisible by another number?
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[ Question9] (SMOPS2015R1Q16) In the figure below, the points A and B are the centres of two quadrants of radius

14 cm and 28 cm respectively. Find the difference of the areas of shaded regions P and Q. Take = as % :

0

28cm

14cm A B
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[ Question2] (SMOPS2009R1Q21) (SMOPS2014R1Q24) (SMOPS2021R1Q12) The diagram shows a 5 X5 square

with 25 unit squares. Find the least number of unit squares to be shaded such that any 3 X 3 square in the diagram
contains exactly four shaded unit squares.
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Iyt 20t St Pp lyt 723521 932 + |heo

201x1] [201x2] [201x3], 2omoo], tep [] BT A ML x MRS R,
oen ams-[ = H = H = ]* *[ T e s ‘

SHiREH? \’1,”7 yey 19 197+ W L’[,,’,Q%’q,

Ws!? S[&g

2. On Teyvat continent, the distance between place A and B is 2022 metres (abbreviated as
m). Lisa asks Messenger ! to send letters from A to B with a speed of 1m/s. After one
minute, she asks Messenger2to send letters from A to B with a speed of 2m/s- After k
minutes, she asks Messengerk+1 to send letters from A to B with a speed of (k+)m/s. All of

the messengers moves at a constant speed. Which of the messengers can reach place B at
the same time?

Lorv = LX)

Ans: | 4oma Ll 34805 62337
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